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(xi − x)2 =
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n
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i=1

x2
i − x2.
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3n + ln (n) < 2000.
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F (s) =
b
m

s + k
m

s2 + b
m

s + k
m

,

����� b �� �� ���
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PV = nRT ,
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	�����	� ����� �� ���  ����� ��	� ����7
���� �� (

P +
n2a

V 2

)
(V − nb) = nRT ,

����� n �� �� ����
� �� ����� ���  ��� P �� �� �
����� �� ?��4� R �� �� ����	��	�
�� ���  ���� ?@�*
. AB ?��� C44� � a � b ��� ����	��	�� ��� ����� �� ���$������ ��
�� ��������� �� �� �����
	�����	� ���  ��� D��
���� �� �������� �� ��
�� ��� P
�� �/�
��� ���� ��� ������� �� V � � ���
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��� ���  ���
� ���
	���� ��� �� �
����� ��
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5 $�������� � ������	� ���������� ��	
�
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π2 − 8

16
=

∞∑
n=1

1

(2n − 1)2(2n + 1)2
.
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1 10−12G�
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Fn = Fn−1 + Fn−2 ,

��� F0 = F1 = 1
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